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1. Two disks sliding on a frictionless horizontal plane with opposite velocities of the same
magnitude v, =10 m/s hit each other squarely. Disk 4 is known to have a mass of 6 kg and
is observed to have zero velocity after impact. Determine the mass of disk B and the velocity
of disk B after impact, knowing that the coefficient of restitution between the two disks is

0.5. (25%)

2. A uniform rod of length L and mass m is supported as shown. If the cable attached at end B
suddenly breaks, determine (a) the acceleration of end B, (b) the reaction at the pin support.

(25%)
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3. The wheels attached to the ends of rod 4B roll along the surfaces shown. The velocity v, is

constant. Derive an expression for the angular velocity and angular acceleration of the rod
in terms of vz, 6, [ and B. (25%)

4. The two blocks shown are originally at rest. Neglecting the masses of the pulleys and the
effect of friction in the pulleys and between block A and the horizontal surface, determine
(a) the acceleration of each block, (b) the tension in the cable. (25%)
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